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4 |EATHE_THEH42%6 502.83| 5 44,800,000 i 0 0
Eih
1,972.56 . .
5 Et 19%2 ’ 7 &= 216,000,000 216,000,000 4 1
WAEHEERY TH & S CEEHRASLH
1,746.90
Eih
6 [\NETmEAOAXA=TH1%ES mﬂwﬁsﬁﬁ%ﬁe—m—nﬁx 508,000,000 764,520,000 8 4
EYEEKR
10,958.76
i i
_ 22,506.76|__. -
7 Nk = 3&2 R 1,590,000, 000 <5 5 0
BEARTIMMH=THIE E%EﬁT x
3,031.24
Eih
9,999.98 .
8 Nk = 3%&3 ’ R— LBRFE = 413,000,000 618,888,000 7 4
HEARTIMMH=THEIE E%Eﬁiw* RT3t
10,958.75
Eih
_ 1,807.69 . N
9 |EXRKRM/NMR=ZTE195%&56 E%Eﬁ&ﬁ%ﬁt IN—/\H R 309,000,000 437,450,000 11 5
624.79
10 [EARBRFHWE—TE145%9 137.10|F@%F BAX 8,800,000 13,450,078 4 3
11 |EEMmKRERIL4S44FE3, 208%ES3 1,421.69| X EFEM|AEH 107,000,000 107,000,000 3 1
&5t 50,597.17 e 3,714,490,000 2,936,098,078 63 30




TR 2 OFE—RBEFANL (FHEMFTL) M AfLER

¥F2o2E FH20F12H198 (£ER) B

41 WM A E1- (AN B RAE AR EHL &8 AHLE
= (FHA—FIL) (AR FRER) (M) (M)
[ KIRAFRT A 1] Eh
SFOHKET1 752 6,510.85
1 [RERFFEEHBE LT EH] (EMT) -— 1,000,000,000 N 0
KIRFERAKFIE-_TEH1773F1
SFOMHKET1 7%&S5
2 |BRTAEREFGEINREMT375%98 7?337& 5,240,000 6,242,200 1
3 fmﬁzﬁ#aimimT375§1o %fikﬁ%z 4,760,000 4,850,000 1
EWMTEBRF=TH2028%20., 2 HrEh -
4 |028B21. 2028%22 186.80 - 3,900,000 73 0
ERHERF=TH2056%7. 20 Mgt -
5 |3 6% 3 192 74 — 3,990,000 ik 0




FR2 OFE—MEHBFANL (FAEMETL) WHF ALER
FR A
6 |EEIMAILFEE3 65 1 38,579 63| HRAEEM#A =1 1,490,000,000 1,501,000,000
(B8
7 |BBIIHAEKE447F14 ;FEZE:E FLERER 9,450,000 10,001,174
8 |EBEBIIHITEHIT1295%2 Bfi H M 7,090,000 7,091,111
9 |EARMMM=TEIZE?2 FRAL -— 858,000,000 E
11,252.97
FR A
10 [EXBRTMH=TEHIEZ4 11,253,76 -— 705,000,000 5
(B8
Eih
11 |RABRM/NMNE=ZTEH195%&56 1,807.69 -— 309,000,000 5
(BYfh)
&&t -—- 4,396,430,000 1,529,184,485




TR 2 OFE—RBEFANL (FHEMFTL) M AfLER

$£30 FH21FE38248 (AER) B4
- EILEOKA R " . o
41 IR ke 1= (235 A% i A AR
(FAHA=IL) (BFRER) (1) ()
Eih
1 | KERMLEREERT B342%2 zﬂmﬁgﬁTAﬁﬁxtu%— 246,000,000 290,000,000 1
yog; = —_ » » » »
|
299.75
Eith
9,848.76
2 | KERMHRRFZEHRRZT B655%F1 ’ - 3,180,000,000 - 0
BMER
13,073.63
=}
3 | KEHMEERIIRFEEH=T H38%ES smiﬁﬁ%ﬁ%ﬁﬁ%ﬁ 627,000,000 764,388,888 4
[ KERAFRT A 1] Eh
SFOM#RAETL72 6,510.85
4 [ RERFFEEHRB AR EH] BMER -— 888,000,000 -— 0
KEERFERKFEZTHL773EL 4,759.77
SFOM#RAETL7E5
=}
5 |BRmERRmAKIAE—T B355%9 gfiﬁm%ﬁﬁﬁﬁﬁ 5,100,000 6,019,999 2
=}
6 |[tETAMEIL77EL14 e - 15,200,000 - 0
336.88
t
7 | BEEEZEEATFHBHIERNLIOTE Sﬁfﬁ%ﬁmiliﬁﬁ%ﬁ 3,190,000 20,000,000 3
EHTHRIZFET=T H182%&93. 204%&3. MfEHh
8 |218%7. mTH218%3 69027 - 52,100,000 - 0




T2 0 FE—MRHFALL (FEMEFTHL) Y

SFOMEKRBEI ZT B0&

Eith
1,412.93

BWER
1,157.40

Ty BZ

AFL#ER

38,

800,000

53,800,000

10

WATHEIZT BH282%&5

Eith
1,210.20

BWER
1,775.36

168,

000,000

11

WATRERIT=T B4683%38, 4699%
1

Eith
4,439.56

BWER
2,724.01

EREAERASH

157,

000,000

175,855,000

12

BEAMRT/IMNR =T B195%56

Eith
1,807.69

BWER
624.79

264,

000,000

280,100,000

13

EEMTRERE—T 8107285, 1072%6

Eith
187.28

ARETEMELHA S

, 780,000

11,339,000

14

RHAERERENT204%1

Eith
628.20

HHAEHEN

81,

400,000

86,500,000

15

SFOMEXRTET—T B99%E2

Eith
191.49

HASHRNEE

28,

400,000

30,400,000

16

BRI AESIRE278% 11

MAE
1,954.17

67,

000,000

;

.I.

il
o

5,830,

970,000

1,718,402,887

23




TR 9OFE—MRBEFANL (FEMFTL) Y AHLER

18 TR19%7H27H (£EH) £t
gg iR ($fji~») A L (A | &A $:§f§& B EAN %%:]l;f%& B
1 [ KRERTAHRENRRPSEET B1000% 666.61| EA 145,010,000 7 0 7 3 0 3
2 | KERTEREINIRRFEAT B1045%1 437.93[  EA 110,000,000| 6 2 8 3 1 4
3 | KRBRMEREIIREFEAT B1048%1 591.80 &EA 135,825,000| 8 2 10 4 0 4
4 | RKIRAREINIRRFESET B994E 236.08) EA 57,300,000 10 1 11 5 1 6
5 |KBRMESFTRARE=TH22%E3 (%) 1,782.55| &EA 469,042,000 25 0 25 16 0 16
6 |ZAT=BE-THE196%4 561.81| kA 117,100,000| 21 2 23 14 1 15
7 |HZAWERZ-TH517&4 99.73| EA 12,150,000 3 1 4 3 1 4
8 |AMFEMEIETIEL EY) 870.05| &EA 135,211,000| 16 5 21 12 1 13
9 [NEMmERET=T B120%20 71.28 ER 0 1 1 0 1 1
10 |ERAMR#EE s —T H490%6 71.55( @A 17,170,000 3 2 5 2 2 4
11 |EEMmKRFEEICSES 138.50| EA 14,888,888 2 3 5 1 2 3
12 |REmBE=TH1062%22 154.69 iR 0 0 0 0 0 0
13 (BREATFE1£2080%7 78.49 ER 0 1 1 0 1 1
At 5,761.07 1,213,696,888| 101 20 121 63 11 74




TR 9OFE—MRBEFALL (FEMFTL) Y AHLER

£20 FH19412H20H (KER) £
] " A E# SMEHR
gﬁ AR T EALE EHLEHE =
= (FHA—EL) (A) | =N | BA | E EAN| BA| 3
1 | KERMEEINREFERT H929% 374.83 @A 80,030,000/ 4 2 6 1 1 2
2 |BmEERBRIE—T B320%4 135.03| EA 16,088,000 7 2 9 6 2 8
Eih
44,016.29
3 |EMThZERT=T B243%1 EA 3,500,000,000| 12 2 14 4 0 4
BYER
15,412.23
4 |RATHEIZT BH2094%2 440.59] @A 110,010,000 3 1 4 2 1 3
Eith
2,208.18
5 |XEFEHmEEAZTHISIE A 3 1 4 1 1 2
BYER
442.09
6 |FEREFTEL6ES 214.87 iR 0 2 2 0 2 2
&t 47,389.79 3,706,128,000] 29 10 39 14 7 21




A1 8 FE—MBRFALNL (FRHETL) W A+HLER
£1E FR18&£12A18H (AEA) .

198 (KER) =i

gg I @i%m> s %H$E<H) EA$Efﬁ i &Aégfﬁ i
1 |KERMBERAE—TBE49EL7 (BEY) 897.65 EA 550,000,000 20 1 21 10 0 10
2 | KBRHAESEEEHF_T B142%6 190.34| EA 13,130,000| 3 0 3 1 0 1
3 | KERMEZIRKFIMT B31%EL (¥ 1,357.41 #EA 262,000,000 12 1 13 8 0 8
4 |RATER=ZREE=T5%E2 (E¥M) 4,167.09] ZEA 630,000,000| 34 1 35 27 0 27
5 [AmmREMEMT24%E (&%) 14,346.62( EA 1,050,000,000| 8 0 8 5 0 5
6 |ZREAEEZATHEG654%1 459.24| fAA 4,700,000| 0 2 2 0 2 2
7 |RETWMRAMT B5%9,5%10,13%F1 (&%) 7,123.90[ EA 4,100,000,000 24 0 24 16 0 16
8 |EEM=8=THINEL 347.38 @A 90,130,000 10 4 14 6 3 9
9 |BENWT L#ET1251%2 105.76| fEA 32,015,678| 5 2 7 4 2 6
10 |PIEmHET504%7 1,050.91 EA 248,888,888 27 3 30 21 3 24
11 | RERIRILHHERT B2642%3,2650%F 1 3,179.49 ZEA 190,002,300| 5 1 6 3 1 4
12 |PBREITh#E1E2080%7 78.49 T 0 0 0 0 0 0

= 33,304.28 7,170,866,866| 148 15 163 | 101 11 112




1 7 EE—MRGFEANL (FE®ETL) P8 ALER
FT1E FH17HFE78148H (KiEH) . 158 (£#H) =it

4 IR BE | s L _ AR - ShER -
(FAHA— L) (M) | =N | BA| 3 EAN | BA | F

1 |EEWmEENE—T BH269%F108 2,291.95| EA 385,000,000 27 2 29 17 1 18
2 |XRARMILFEMWT B407%&29 3,992.99[ EA 326,127,600 9 1 10 4 1 5
3 |#ATIEETEET—T B3376%5 72.15|  EA 7,848,000| 3 3 6 1 1 2
4 |MEMTFAERT302E3 1,857.60[ EA 485,120,000 25 2 27 15 1 16
5 |#ERMXKE—T B559%6 2,450.71 &N 390,700,389 22 0 22 15 0 15
6 |HRBRTHRPHAT25EF1L 1,998.53| EA 316,150,000 11 3 14 5 2 7
7 |RHEREBIUET—T22FEL, 24%F1. 3BFL 5,796.38| EA 1,230,040,010[ 37 3 40 25 1 26
8 |MAmHFEEET ZT5%1 3,614.72|  EA 1,400,100,000 41 1 42 26 1 27
9 |SAWmERATEARIE—T H320%&3 658.87| EA 56,205,420 7 2 9 4 1 5
10 SRmBES-TIE? 5,398.83| EA 518,880,000 24 0 24 13 0 13
11 |SEm#EEETB132%3 122.31] &N 16,795,000 3 2 5 2 1 3
12 |FMETAFE=T B503%2 1,875.91| EA 201,880,008| 16 1 17 10 1 11
13 |EMEMRERL77ES, 17789 88.40[ fEA 1,700,000| 1 3 4 0 2 2
14 |SREEPURET 77185, 6014%F2. 6016%F. 6154%F5 3,190.71 &EA 30,000,000 2 0 2 1 0 1
|t 33,410.06 5,366,546,427| 228 23 251 | 138 13 151




TR 7 EE—REFANL (FEMFTL) W4 ALER

g2@ FH17F12H822H (KER) £k
4 IR E BE | mus Gl _ TAER | OWER
(FHA—FL) (A | A | BA | 3 EAN | EA 5
1 |REAHHERT2978%2 1,258.74| kA 416,944,100 23 2 25 7 1 8
2 |REHHFET2979%1 5,055.12 EA 856,335,200 26 0 26 7 0 7
3 |ERARMHAHET119%34 87.31| EA 21,000,000 15 3 18 11 1 12
4 |SFOTHERRET—T B315%16 2,741.84] fEA 564,588,888 27 2 29 24 2 26
5 |MEGEBWELET H890%EL 875.49( @A 110,000,000{ 5 2 7 3 2 5
6 MRIARRAT B25%1 1,316.97| kA 200,000,888 24 0 24 17 0 17

AERTRESRKXHET B292%1
7 |EBHFHEEZTHI02%E3 358.88[ EA 11,111,111 3 3 6 3 3 6
8 |RERMEILTHEEET H2642%3. 2650%1 3,179.49 ER 7 1 8 2 1 3
9 |FIRTESHET1631%F4 3,074.22 &EA 99,898,675 8 2 10 5 1 6
= 17,948.06 2,279,878,862| 138 15 153 79 11 90
£330 Tp18%F3HA29H (KER) Xk

4 IR E BE | mus Gl _ TRER | OWER
(FHA—FL) (R | A | BA | 3 EAN | EA 5
1 [ KRER\REFREBEKAETIES (Y1) 1,199.34| &EA 1,106,540,000| 25 0 25 11 0 11
2 |MATERIREET— T B2197%6 (B¥1) 9,316.19| EA 607,309,170 12 1 13 6 1 7
3 | WHREHMmEZILGEE. 359F 264.20] &N 33,333,333 4 2 6 4 2 6
4 | KERIELTHEERT H2642%F3, 2650%F1 3,179.49| fEA 200,100,000, 6 3 9 3 1 4
5 [RiEREETSH27183, 273%3 197.30| EA 12,877,170 2 0 2 2 0 2
&t 14,156.52 1,960,159,673| 49 6 55 26 4 30




10 (FpL164F12A218 (KER) . 228 (KER) .

Tk 1 6 EE—MEBREAL (FEHMETL) MG AILER
2408 (£A) £

4 IR BE | s L _ AR - SRER -
(FHA=FL) (A | A | BA | EAN | EA 5

1 | KERmttiERERH P =T B151%677 507.77| &N 127,488,000| 15 0 15 9 0 9
2 | KBRMREFRLEHETH4E2, 4F1L (B 1,493.37| kA 1,134,000,000| 25 0 25 13 0 13
3 | RBRTHEERREREA=T H28%12 109.64| fEA 30,003,388 11 8 19 5 6 11
4 | KBRAIFMEERILE—TE1278&L, 12782 313.46[ EA 131,326,700| 21 11 32 14 7 21
5 |KBRTHRREZA-THIE 958.98( EA 493,160,000 9 0 9 4 0 4
6 |KBRMHREAETMT H8E3 385.90[ EA 711,200,000 31 2 33 20 0 20
7 |SRERRESETHE 65471 459.24 ER 0 0 0 0 0 0
8 |wEAMEEAANTH20%241 193.18| EA 31,800,000| 10 6 16 4 2 6
9 |‘RATHPHE108%10 260.60| AN 51,250,000| 7 7 14 3 6 9
10 |ER)IMhEFEET12%4, 2653 476.07| EA 90,606,500| 18 8 26 12 6 18
11 |WETHEHET=T B225%1 2,398.92 TER 3 1 4 0 1 1
12 B KEILBT—T415E5 1,614.97 @A 293,580,000 9 2 11 3 2 5
13 R EERTET486%F1 - MR L2418 - 241%2 21,800.10| EA 1,621,120,000 17 0 17 5 0 5
14 RmZREZTIE2 6,724.67| EA 1,427,477,000| 17 1 18 10 0 10
15 |REGRMRETR A3174%F12 1,510.29 ER 0 1 1 0 1 1
16 |REAAELEETIR A3174%F13 1,747.02 iR 0 0 0 0 0 0
EMREE 40,954.18 6,143,011,588| 193 47 240 | 102 31 133

17 [RHBAEZTI1H7 823.68| EA 505,050,000 22 3 25 15 3 18
18 [RHEILE=T4E36 334.85| EA 34,077,700| 11 0 11 5 0 5
19 |MRFAREBET=T B367%&2 880.68[ iEA 95,200,000 14 4 18 10 3 13
tEBAE 2,039.21 634,327,700 47 7 54 30 6 36
#art 42,993.39 6,777,339,288| 240 | 54 | 294 | 132 | 37 | 169




TR 6 FE—MRBEFALL (FEMFTL) Y AHLER

F2E (FH17FE3824H8 (KEH) =kt

4 IR E BE | mus Gl _ TAEE - SRER -
(FHA—FL) (A | A | BA | 3 EAN | EA 5

1 | KETHRERMES =T H3%E3S 163.37| EA 50,110,000 19 5 24 12 5 17
2 |tETAERET182%5 249.76| &N 20,250,000| 3 0 3 2 0 2
3 [JNEWLAETIEAT B83&EL 1,963.23| kA 190,330,000| 8 0 8 5 0 5
4 | KERTMESEFFLUR-TEIEL 1%F2 (Y 7,413.30| EA 4,100,000,000 29 1 30 16 0 16
&t 9,789.66 4,360,690,000| 59 6 65 35 5 40




